Quiz II General Chemistry I Lecture Fail 13 Dr. Hahn 20pts 9/13F 9:30 am Form A quiz #
by
Name }4% Name . § i

(print pame) 7/ (sign name)

(SR

Please show all work for full credit & for partial credit. Avogadro’s number = 6.022 x 107

1 One point per blank for question #1

-

a. Give the symbol for the following element name: sulfur

b. For the element Ca given the periodic table, what is the element atomic number Z { )

What is the element’s atomic mass (from the periodic table) ?_4.(, 07 §

c. Give the symbol of (out of the periodic table choose any one elgment which fits the following

description) transition metal kﬂ ¢ @ halogen f’ | 2=

d. How many electrons are in the cation or anion shown? Ga™ 2 F a/f*g):uc T - Cf:ﬂij,{
C G WA F 43 brcaust Grovp Rt = ""D/\ﬂygtﬁ

e. One mole of the clement P has{ 0,022 % (give a number) of atoms and weighs grams

0 20.97

2.-  Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)
coumapy SR T2 (Co(+Y) +(BI( 1) =
Lg)we»f TA -2 +1 Q‘?};zgf Ca
3. If you have 27.8 grams of the element K , how many atoms of K is that ? (8 pts)
okomic mag ko= 39,1 gleod
Z’),}gwﬁfa\g h.\,@,é’tc >< C,Ollf/ﬂlgw -
e Y005k~ mpl ko

L8 K (0 homs |

Extra Credit (4 pts) (no points off for minor spelling errors)

X<

Name nolecule shown below which combines the clements barium (Ba) and iodine (I} Bal;

DUt Ltif&:\"' \:‘:; QOJé‘ O~ e = b Gt o .
odide ) Cinuey rome = 16dipe — (Yle +1de
S~ 1 odi e




Quiz I General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 913 F 9:30 am Form B quiz #

Name (Cﬁ/‘@ Name

(print name) v (sign name)

Please show all work for full credit & partial credit. Avogadro’s number = 6.022 x 10
1 One point per blank for question #1

a. Give the symbol for the following element name: oxygen § 2

b. For the clement Mg given the periodic table, what is the element atomic number _&
What is the element’s atomic mass (from the periodic table) ? _2__% % 0 < 0

c. Give the symbol of (out of the periodic table choose any one element which fits the following
description) a lanthanide or actinide ___BL‘{\ an alkali metal ____’i

d. How many electrons are in the cation or anion shown ? $? (f 3 a,{-gw\ e # = /6
chawg = -1y Cdd 28 — (C+2¢ = [¥e
e One mole of the element Rb has C:> el pad (give a number) of atoms and weighs _/ gramé

(6* ¥s, iy
2. Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)
13kands ,-;j’ Zr#“?gg’@ = G-¥=-L %)if*%);"g})( )= O Chdvgy
Y =4 =
8 ?iicavgﬁ =43 %, 5

3. If you have 73.9 grams of the element Sc , how many atoms of Sc is that ? (8 pts)

Se ajeDrr\iC' MmAse = 4‘4,%9({9[5,9(_3[ | ;G,OZZK/ﬂZi@
7794 7% x Mol bc < 6,02125/02’2_:4&»;%
4“4%67569';(, [Wgc h
V30 % (0" okttas S

Fxtra Credit (4 pts) (0 points off for minor spelling errors) o -y 67~ — STt £/ uas

Name the molecule shown below which combines the elements strontium (Sr) and oxygen (0) +

-. ¥ (1 oG — n +
SrO T@"Ohégum oxide Uxggon—Ys ‘e




Quiz II General Chemistry I Lecture Fall 13 Dr. Hahn 20pts 9/13 F 10 30 am Form A quiz#

Name /<8!4/ Name biu

(print name) J (sign name)

Please show all work for full credit & for partial credit. Avogadro’s number = 6.022 x 10%
1. One point per blank this guestion.

a. Given the following symbol, give the element name: Ca Ca ( C i

b. For the element Na given the periodic table, what is the element atomic number ”
What is the element’s atomic mass (from the periodic table) ? 2 L. q > q 270

c. Give the symbol of (out of the penodlc table choose any one element whlch fits the following

description) & main group element | i_/ an alkaline earth metal !g E

d. What is the charge for the foﬂomng clement as an anion or cation (explain in a few words or show
- ( V"- jput iZI
equation) Se ‘”2’ d' & "
(/1\6» (—y= -2
2. Which of the following compo are ionic _(circle all ionic «uli® } (2 pts)
: tonic — melal t+ hon M&(
([ No, pCh (GaS) g
elerveds opposile Sl peqisd;,

3. Give the formula of the following ionic compound wigh the co t ratios of the ions. (4 pts)
A A TS e 1) +‘hé‘e) et

Na and Se “0
Ta~—> GD Na= Z Se = -
4 much does 4.5 x 10'° atoms of the element Si "weigh ¢ (8 pts) Show work.

S O,mmc. mass= 2809 S0 Ww)
hwﬁ 9: 23‘0‘79 §, é&zz%/ﬁ Yibrns S

>4 /U $ x 23055 5"
M (:;: Gl '?(/ﬂ /W{ / L
LD, ! D

(e LRI om
Extra Credit (4 pts) (no points off for minor spelling errors) l ni 'f:”‘ﬁjﬁ”\ — ch)f”\
Name the molecule shown below which combines the elemenls{ lithium (Li) and nitrogen (N) LisN ~+ M{e
[ L Ui it da > Nitnid,




Quiz II General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 913 F 10 30 am FormB quiz#

Name / <g")/ Name

(print name) {sign name}

Please show all work for full credit & for full credit, Avogadro’s number = 6,022 x 107
1. One point per blank this question.
a. Given the following symbol, give the element name: K ﬂ7 £ é[( ‘9 f, L,

b. Fortheelement K given the periodic table, what is the element atomic number ( Ci
What is the element’s atomic mass (from the periodic table) 7 ; Z . O C} &

¢. Give the symbol of (out of the periodic table choose any one element which fits the following
description) a transition metal iE “6 a cha.lcogé; S

d. What is the charge for the following element as an anion or cation (explain in a few words or show

. equation) Ba/\ghw tﬂ:ﬁr‘_} %Vgg = +L

2. Which of the following compounds are covalent) (circle all g covalent ) (2 pts) . i
Na € @ @ Cas f\,&h'\’\ﬁ*&ﬁ—(yﬂ' /\a&‘r\}’f\-ﬁfﬂf
Qelerm ks closy in

3 Give the formula of the foﬂomtg ionic compodl?d thh the correclt ratios of the tons. {4 pts)

FIY BB 6 = -2 (3)(+3) « (R)(-D) =0 |

Al and Te )«6

S groep A — 43 =2 Te=g% 2 leg™
How much does 9.2 x 10° atoms of the element Ag welgh? (8 pts) Show wor

Ut bg = [00.374.85 - (077 x/gzggwm)

9.2 % (07 [rot /J{ |
akoms Iig % 0L K105 pbrrns g /‘/ffwfk L 1L
@ ?(/O*-éi*

Catan = SOL; lum

Extra Credit (4 pts) (no points off for minor spelling errors) ) /
AN~ = Siy o _ U
Name the molecule shown below which combines the elements sodium (Na) sulfur (S)

Naz § S'Odﬁ; i, SM{QI;(,Q §“/F’l%€+%.
= /ég}_\




Quiz Il General Chemistry | Lecture Fall 13 Dr. Hahn 20 pts 9/13 F 9:30 am Form A quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & for partial credit. Avogadro’s number = 6.022 x 10%
1 One point per blank for question #1

a. Give the symbol for the following element name: sulfur

b. For the element Ca given the periodic table, what is the element atomic number

What is the element’s atomic mass (from the periodic table) ?

C. Give the symbol of (out of the periodic table choose any one element which fits the following
description) transition metal a halogen

d. How many electrons are in the cation or anion shown ? Ga ™

e. One mole of the element P has (give a number) of atoms and weighs grams
2. Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)

Caand Br

3. If you have 27.8 grams of the element K , how many atoms of K is that ? (8 pts)

Extra Credit (4 pts) (no points off for minor spelling errors)

Name the molecule shown below which combines the elements barium (Ba) and iodine (I) Bal,




Quiz Il General Chemistry | Lecture Fall 13 Dr. Hahn 20 pts 9/13 F 9:30 am Form B quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & partial credit. Avogadro’s number = 6.022 x 10%
2 One point per blank for question #1

a. Give the symbol for the following element name: oxygen

f. For the element Mg given the periodic table, what is the element atomic number

What is the element’s atomic mass (from the periodic table) ?

g. Give the symbol of (out of the periodic table choose any one element which fits the following
description) a lanthanide or actinide an alkali metal

h. How many electrons are in the cation or anion shown ? S

I. One mole of the element Rb has (give a number) of atoms and weighs grams
2. Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)

Band S

3. If you have 73.9 grams of the element Sc , how many atoms of Sc is that ? (8 pts)

Extra Credit (4 pts) (no points off for minor spelling errors)
Name the molecule shown below which combines the elements strontium (Sr) and oxygen (O)

SrO




Quiz Il General Chemistry | Lecture Fall 13 Dr. Hahn 20 pts 9/13 F 10:30 am Form A quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & for partial credit. Avogadro’s number = 6.022 x 10%
1. One point per blank this question.

a. Given the following symbol, give the element name: Ca

b. For the element Na given the periodic table, what is the element atomic number

What is the element’s atomic mass (from the periodic table) ?

C. Give the symbol of (out of the periodic table choose any one element which fits the following
description) a main group element an alkaline earth metal
d. What is the charge for the following element as an anion or cation (explain in a few words or show

equation) Se

2. Which of the following compounds are ionic (circle all ionic ) (2 pts)

Na ClI NO; PCl; Cas

3. Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)
Na and Se

4 How much does 4.5 x 10'° atoms of the element Si weigh in grams? (8 pts) Show work.

Extra Credit (4 pts) (no points off for minor spelling errors)

Name the molecule shown below which combines the elements lithium (Li) and nitrogen (N) Lis N




Quiz Il General Chemistry | Lecture Fall 13 Dr. Hahn 20 pts 9/13 F 10:30 am Form B quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & for full credit. Avogadro’s number = 6.022 x 10%
4. One point per blank this question.

a. Given the following symbol, give the element name: K

e. Forthe element K given the periodic table, what is the element atomic number
What is the element’s atomic mass (from the periodic table) ?
f. Give the symbol of (out of the periodic table choose any one element which fits the following
description) a transition metal a chalcogen
g. What is the charge for the following element as an anion or cation (explain in a few words or show

equation) Ba

5. Which of the following compounds are covalent (circle all covalent) (2 pts)

Na ClI NO, PCl; CasS

6. Give the formula of the following ionic compound with the correct ratios of the ions. (4 pts)
Al and Te

4 How much does 9.2 x 10° atoms of the element Ag weigh in grams ? (8 pts) Show work.

Extra Credit (4 pts) (no points off for minor spelling errors)
Name the molecule shown below which combines the elements sodium (Na) sulfur (S)

Na, S




